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AB = 4cm, BC = 6cm, AE = 5cm DIE /A ABCD — EFGH 236 % . XRDOMICEZ L.
(S#25r20%, A#35r30%, B#55, CHRT74)

A D
: (1) JBC LiCHP%FP+PDDRANNCAEZ L )ITE .
B : G CDELEFP+PD %Zkd k.
5 (2) WCG LICHEQ%EFQ+QDMm/Mc2 kit 5.
' CHOEEFQ+QD Zke k.
e SEa H
F'” - (3)  (1),(2) DEEHE 5% AT, HAHHER ETF 25 D A0
BRIV S, BlEDTTE A,

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

AB = 9cm,
A.
b
,’/, 4

BC = 7cm, AE = 8cm DEJ{A ABCD — EFGH 3% %. RDMICE Z &.

(SH2740%, Afasy, B#6y, C#84y)

(1) MBCLICHPZ2FP+PDMBRIMNIZB EIHICES.
ZDEEFP+PD %KD L.

(2)  WCCLIZHQZFQ+QD RN ARB kHITL B,
IDEETFQ+QD %KD k.

(3) (1), DFERELFE AT, HARKTETF 26 DD
AN 5, BREZDTTE Z.
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RE§IFZA L Ik EAG SELOSEEE 01 RERS

AB = 4cm, BC = 6cm, AE = 5cm DIE /A ABCD — EFGH 236 % . XRDOMICEZ L.
(S#25r20%, A#35r30%, B#55, CHRT74)

(1) BCLEIZHP#%2FP+PDMRNIEBEIICE S,
ZDEEFP+PD %R k.

(2)  WCG RIZAHQZFQ+QD MIRNIHBEIICE B,
ZHOLEFQ+QD ZKd k.

(3)  (1),(2) DEERESLF AT, HHRERLETEF 256 DD
BAIEEE R S, Bl 2O TE A,

e B, - o
A . D * UHRELOREER > RARLOER
;
FP + PD D ft/IMi
B P | = JEX® FD = \/AF? + AD?
5 =97 162 =313
F G

g O G * IFRALOBREER > EBERRLOES

5 Q FP + PD O /M

= /Mo FD = /BF? + BD?
F G H =52+10%2 =55

(3)
OO T Y KNELEEZTORVIL—D3H 5 T LICHER.

Es e LD xUGRELOREER - EEELOES

4

R FR + RD Of/ME = £ 0 FD = /EF? + ED?
F B C _ VI = 3T

DL — b EZS5NBED, TDIDDENNE—HT 3.
Bl Z1X, A AE 2@ 50— bk (2) LFEBRICR 5.

TREL XS, (1) 3V/13=V117T (2) 5V5=+125 (3) V137
Y EDOfERA S, (1) DEBEE 14 b, Rl 3v/13.

FAVI3TITHT SN k.
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2.  AB=9cm, BC = 7cm, AE = 8cm DEJ7{& ABCD — EFGH 236 % . XDORIZE 2 K.
(S22 408, Af4sy, Bik64r, CHs8sr)

(1) MBCLICHPZ2FP+PDMBRIMNIZB EIHICES.
ZDEEFP+PD %KD L.

(2)  WCCLIZHQZFQ+QD RN ARB kHITL B,
IDEETFQ+QD %KD k.

(3) (1), DFERELFE AT, HARKTETF 26 DD
AN 5, BREZDTTE Z.

i * IHRALOBEEE - ENELOBES
B —c FP + PD /M
5 — KEKID FD = /AF? + AD?
3 = VITZ 172 = /338 = 132
F G
(2)
7
. Q * AR EOREEH - ERRLEOER
F G H
FP + PD D &/IMili
= /XD FD = /BF? + BD?
=82 +162 = /320 = 8v5
(3)
WELREZTOREVIL—F23H 2 LICHEE.
* GEREEORERH > BERRLOER
g S AT
- ; FR + RD O f/IMl = /£X® FD = \/EF? + ED?
=92 + 152 = /306
9 R
y bV —FbEZ 5NN, TD3ODEN»E—HT 5.
F B C fl 212, I AE %320 — b (2) L ARICK 2.

TIFHI L & 9.
(1) 13v/2=+338 (2) 8/5=+/320 (3) /306
P EDKERD S, (3) DRI 14 D, RAEEET V306 = 34/34.

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

